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Will there be snow at the Matterhorn?

Á How much compute power is needed to predict if there is snow out of a 
άōŀƴƴŜǊ ŎƭƻǳŘέ ŀǘ ǘƘŜ aŀǘǘŜǊƘƻǊƴΚ

Á A factor of 2x in resolution means a factor of 10x in compute effort!

Á Dx = 35 m
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Will there be snow at the Matterhorn?

Á How much compute power is needed to predict if there is snow out of a 
άōŀƴƴŜǊ ŎƭƻǳŘέ ŀǘ ǘƘŜ aŀǘǘŜǊƘƻǊƴΚ

Á A factor of 2x in resolution means a factor of 10x in compute effort!

Á Dx = 70 m
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Will there be snow at the Matterhorn?

Á How much compute power is needed to predict if there is snow out of a 
άōŀƴƴŜǊ ŎƭƻǳŘέ ŀǘ ǘƘŜ aŀǘǘŜǊƘƻǊƴΚ

Á A factor of 2x in resolution means a factor of 10x in compute effort!

Á Dx = 140 m
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Will there be snow at the Matterhorn?

Á How much compute power is needed to predict if there is snow out of a 
άōŀƴƴŜǊ ŎƭƻǳŘέ ŀǘ ǘƘŜ aŀǘǘŜǊƘƻǊƴΚ

Á A factor of 2x in resolution means a factor of 10x in compute effort!

Á Dx = 280 m
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Will there be snow at the Matterhorn?

Á How much compute power is needed to predict if there is snow out of a 
άōŀƴƴŜǊ ŎƭƻǳŘέ ŀǘ ǘƘŜ aŀǘǘŜǊƘƻǊƴΚ

Á A factor of 2x in resolution means a factor of 10x in compute effort!

Á Dx = 550 m


